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I .step param RVARL list 7.15K 8.06K 9.09K 10.2K 12.1 K 14.3K
100K 022 100K 100K -param RVAR2 = RVAR1
.param RPOT1 10K
.param RPOT2 = 20K - RPOT1
- R2 c1 u R6 p:
100K .022) = “TLO72 .param RVAR1 7.23K
. TLO72 100K .param RVAR2 = RVARL
.step param RPOT1 list 1K 5K 10K 15K 19K
R4 .param RPOT2 = 20K - RPOT1
2.2K )
| .inc "TLO72.sub"
c3 .tran 0.2
.
;ac oct 50 1 1000
/‘\]-OH N
-15 o
+15
o)
M R14
20k
R10
s {RPOT1} | ~, U4 R15 ¢
R8 & f
o Toz 0 i
{RVAR1} {RVAR2} R1L
c5 {RPOT2
0.22u R12 R13
10K < 10K
-15
15 ~7
+15
%
15 SINE(0 1.0 100 0 0 0) SINE(0 0150 0 0 0)
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